An Equation Magic Square
A Puzzle by David Pleacher

Use what you've learned about solving equations to work the following problems.

Place each answer in the square with the problems.

If you've done your work correctly, you should get the same sum every time you add up a column, a
row, or a diagonal.

2x + 4 = 20 3y -y = 56 3n + 15 105 5y = 3y + 4
3n + 8 = 62 x + 3x = 56 8y - 2y = 72 2n + 3n = 120
n X
—_— +5=7 — - 3=1 4y + 6 = 70
3(2y - 4) = 48 Y
Y 11 5

—-8=238 2(y + 4) = 16 3y = 5y -12 2n - 12 = 40

What is the sum of each column, row, and diagonal?



